
1 2

3 4

Rev. 03/21

DISCLAIMER FOR RALLY INNOVATIONS PRODUCTS: Buyers assume all risk and liability whatsoever for the installa�on and the use of Rally Innova�ons products. Rally Innova�ons products are sold 
as decora�ve accessories and should not be relied upon as protec�on for the vehicle or occupants in the event of a collision or roll over. Vehicles equipped with a supplemental restraint system 
(air bag) deployed by impact should not be modified by any a�ermarket Light Bar or Skid Guard without first consul�ng the vehicle manufacturer. Rally Innova�ons, a subsidiary of Pentech 
Automo�ve assumes no liability for injury, loss, incidental or consequen�al damages in the event of a collision or roll over.

INSTALLATION INSTRUCTIONS

PACKAGE CONTENTS TOOLS

Make:

Model:

Applica�on:

10mm Socket/Wrench
Panel Removal Tool
1/2” Socket/Wrench

5/32” Hex Key

Light Conversion

Subaru

2004-2005 Impreza RS/WRX/STi

QTYQTY

5/16” Split Lock Washer
5/16”-18 Nut

5/16” Flat Washer
5/16”-18 x 1” Hex Bolt
Moun�ng Brackets (L+R)2

4

4
4

8

QTY

Remove front fog light cover using a panel removal tool. 
Carefully begin prying from the small slot located at the 
corner and work your way around the edge until the 
entire cover is free. (04-05 WRX shown)

Unfasten the splash guard beneath the fog light area by 
removing the factory plastic clips. 

Remove the (2) 10mm-head bolts from beneath the fog 
light. Slide out the fog light from the front of the bumper 
and unplug from the harness.

Assemble the new fog light on the mounting brackets. The 
Driver-Side bracket has the larger indent on the right-side 
(shown above). 



5 6

7 8

Rev. 03/21

DISCLAIMER FOR RALLY INNOVATIONS PRODUCTS: Buyers assume all risk and liability whatsoever for the installa�on and the use of Rally Innova�ons products. Rally Innova�ons products are sold 
as decora�ve accessories and should not be relied upon as protec�on for the vehicle or occupants in the event of a collision or roll over. Vehicles equipped with a supplemental restraint system 
(air bag) deployed by impact should not be modified by any a�ermarket Light Bar or Skid Guard without first consul�ng the vehicle manufacturer. Rally Innova�ons, a subsidiary of Pentech 
Automo�ve assumes no liability for injury, loss, incidental or consequen�al damages in the event of a collision or roll over.

Replace the fog light cover.

Completed assembly shown.

Fastened on the bottom side.

Insert (1) 5/16”-18 x 1” Hex Bolt and (1) 5/16” Flat Washer 
into each slot on the mounting bracket and fasten to the 
vehicle using (1) 5/16” Flat Washer, (1) 5/16” Lock Washer 
and (1) 5/16”-18 Hex Nut on the bottom side.

New fog light assembly, ready to install.


